
<latexit sha1_base64="g7KCFnXFKrlykqGZO97LeKOerg0=">AAACCXicbVDLSgMxFM3UV62vUZdugkWoUMqM+NoIRV24rGAf0Cklk2ba0CQzJhmhDN268VfcuFDErX/gzr8x085CWw9cOJxzL/fe40eMKu0431ZuYXFpeSW/Wlhb39jcsrd3GiqMJSZ1HLJQtnykCKOC1DXVjLQiSRD3GWn6w6vUbz4QqWgo7vQoIh2O+oIGFCNtpK4NoceRHvhBcj2GXk3R0n1Zlz1F+xwdwgvodO2iU3EmgPPEzUgRZKh17S+vF+KYE6ExQ0q1XSfSnQRJTTEj44IXKxIhPER90jZUIE5UJ5l8MoYHRunBIJSmhIYT9fdEgrhSI+6bzvRsNeul4n9eO9bBeSehIoo1EXi6KIgZ1CFMY4E9KgnWbGQIwpKaWyEeIImwNuEVTAju7MvzpHFUcU8rJ7fHxeplFkce7IF9UAIuOANVcANqoA4weATP4BW8WU/Wi/VufUxbc1Y2swv+wPr8Abh5mG8=</latexit>

D (q, t,�) = 0


